k2 8F £ 3 6 ORBHPREDIREHHREAN—VYAS
BRIPB/INRTw FIR—=)LD T A5 1 /N)L2016

8 8 YR28E7A318 (B)
2 B HKEDREBE
T & HKED (L) REDEBRS
T & RPNRTY RR—UER
R&=ZE  STHN St
(ISR
A3J—-Fk BI—Fk
)
2 — 4 18 — 2
RPI L FEE 3 { S S } 8 SBHI-NR  GPI"BTER 64{ 193 }9 NElw
12 — 6 20 — 2
F_HE
o5 — 9 10 — 16
BRIPhS L PR 2{ 1525 }57 BHLZFIrIS5. RPDSEBETRE 52{ IR }52 EAIrIS5T
18 — 7 14 — 12
F=H8E
6 — O 6 — 22
-~ — 4 - 8 - =~— )\ 5 - 10 =~—\
SHHI /N 22{ a3 }39 TOSCIZ/NR WEI=NR 25{ o Z 12 }62 FEIT/AR
8 — 25 4 — 15
EHr )
19 — 18 7 — 14
SALFIrDS5T 31{ 2 Z %g }89 PRk HRIDST 33{ 160 _ s }63 BRP DB TR
6 — 26 10 — 18
SEHAS
8 — 18 16 — 7
- 5 — 12 — -y > — 22 e — s
TOSCI /N2 86{ 5 - } BRIPI L TRk FRIZNR 86{ & D %= }66 P B TEIK
10 — 13 8 — 11



